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1. A young boy has been confined to his

room for an hour for his

* misbehaviour. This is probably a
pretty negative situation for him. He
starts crying softly and pitifully
murmurs that no one loves him.
This causes his mother to relent in
.a few minutes and let him out of his
room. This is called

{a} avoidance conditioning
(b} criticism trap
{c}] escape conditioning

{d) omission conditioning

‘2. Consider the following human

needs :

1. Safety needs

2. Physiological needs

3. Esteem needs

4, Belonging and love needs
5. Need for self-actualization

What is the correct order of the
above-mentioned human needs?

(@ 2-1-4-3-5
b) 1-2-3-4-5
{c) 4-3-2-1-5

(d) 2-1-4-5-3

-
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3. Consider the following statements :

1. Consciousness brings - in
uniformity in diverse stimulus
fields. '

2. Consciousness creates self-
awareness in the individual
about the perceptual stimuli.

3. Consciousness gives jddgement
of truth  regarding the
perceived object.

Which of the statements given
above are correct?

fa) 1 and 3 only
(b} 1 and 2 only
¢/ 2 and 3 only

([d) 1,2 and 3

4, In wartime, soldiers remain in

camouflage using which one of the
following principles of perception?

fa) Proximity
(b} Grouping
fc) Common fate

(d) Figure and ground

__—,—




"1, TH BE wgd W gofaEn & fn w
que @ M 3 uiteg ¥ | TE AR 39S frn
g B TeRens R B 97 ToR-Tee
UM & N . i et § s
o F st 3@ I A W @ wo
i Fo 9 i § ofw dem R o
FW H GIE A e B 3 o FE B

(a) @R g |
(b) A T ”
(o) e S
(d) T T
2. Pefafea e sEmwmel W fEw
Eﬁﬂm: ‘
1. TRE H AEwEFHan
3. Hmniﬁtaaﬁmmf}
4, WY gt R I ) srevaEand
5.  TeAfHfE Y e

IPYH AAE ATAHAAT B AL FH
27

(@) 2-1-4-3-5
b) 1-2-3-4-5
(c) 4-3-2-1-5

(d} 2-1-4-5-3 * -

N-DTQ-K-RUI/11A

" 3. Frefaid e W feEm Fift

1 ﬁmﬁﬁam%ﬁw

el R

2, e =f Tl e S o

HATCHATTEHAT I9d HA B

3. Yem yeta wget & -

Rrsars fofa 2 21
I H H ¥ IR-B @ &7
fa) Faw 1 o3
) Fad 1 3R 2
(c) w233

d 1,233

RN

[N ¥ N SO
' e s g woIuEn = s §
L mmY |

(o) Wi

b} g

¢} W frafa

(d) R 3 e

it {P.T. O.




5. The physiological properties of the

nerve fibre vary with their diameter
and medullation.

In the light of the above statement,
thicker the nerve fibre

(a) the higher will be the impulse
velocity

(b} the lower will be the spike
potential

{c) the higher will be the refractory
period

{d) None of the above

6. Which two hormones are secreted by

posterior pituitary gland?

{a) Antidiuretic hormone and
oxytocin
(b} Growth hormone and prolactin

{c} Follicle-stimulating hormone
and adrenocorticotropin

{d} Thyroid-stimulating hormone
and luteinizing hormone

7. A newly developed numerical ability

test was correlated with an
established numerical ability test.
The two tests correlated 0-25. This
provides an evidence for

(a} the unsatisfactory concurrent
validity for the new test

(b} the satisfactory concurrent
validity for the new test

{c) the unsatisfactory predictive
validity for the new test

(d) the satisfactory predictive
validity for the new test
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8. Consider the following statements :

The Tadio stimulation’ improved
the study of brain and behaviour
relationship by

1. allowing observations under
free-ranging conditions

2. initiating social interaction
when desired

Which of the statements given
above is/are correct?

fa} 1 only

'(b) 2 only

fc) Both 1 and 2
(d} Neither 1 nor 2

9. Reverberatory circuits mainly exist

10.

in

{a) medulla
{b) midbrain
{c}' pons

{d) cerebral cortex

In a project on Human Factors :
Designing for Effectiveness and
Safety’, the psychologist wanted to
find out whether in comparison to
reading a moving scale with a fixed
pointer, it is easier to read thc
pointers moving against the fixed
scale. Which research method is
suitable for the purpose?

faj Employece survey
(b) Experimental method
{¢/ Non-participant observation

{d) Participant observation
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11. Which one of the following is the

most important characteristic of
clinical method?

{a) Antecedent-cause identification
{b} In-depth study of a client

{c) Prognos_.tic scope

(d) Scope for establishing rapport

12. Which of the following is/are the

essential - characteristic(s) of a
psychological experiment?

1. Active manipulation of the
independent variable

2. Use of sophisticated instru-
ments and apparata

3. Controlling * the extrancous
variables affecting the
dependent variable

Select the correct answer using the
code given below ;"

Code :

fa} 3 only

(b} 1 and 2 only
fc) 1 and 3 only
fd} 1,2 and 3

13. The phenomenon of-certain colours

appearing to change brightness
under different . . levels of
illumination is cal_led .

{a) phi-phenomenon
{p) Purkinje phenomenon
(¢ Emmert’s phenomenon

(d) stereoscopic phenomenon
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14, The law. of Prégnanz pertains _to
which of the following?

1. Perception of a visual array

2. Simplest possible organization
of elements into a stable,
coherent whole

3. Perceiving motion due to
binocular cucs

Select the correct answer using the
code given below :

Cade : |

fa] 1,2 and 3
{(b) 1 and 2 only
{fc) 2 and 3 only

{d) 1 and 3 only

15. A basketball player is learning to

basket the ball’ He makes many

‘attempts most of them are failures.

But he repeats the occasional
successful attempts. Slowly he
learns to achieve high percentage
of successful shots. What is the
process of learning involved in this

. situation called?

() Insightful learning
(b) Trial and error learning
(¢) Classical learning

{d} Operant learning
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16. Consider the following :

Evolutionary levels of learning given

by Razran are

1. reactive

2 integraﬁve |
3. symbolizing
4, connective

What is the correct order of the
above?

(a) 1-2-3-4
(b} 2-1-3-4
fc) 2-4-3-1

fd) 1-4-2-3

17. Transfer of training is positive, when

fa} two tasks involve different
stimuli and similar responscs

(b} two tasks involve similar
stimuli and different responses

fcj two tasks involve different
stimuli and different responses

fd) None of the above

18. Children who are born with a
missing sex chromosome will suffer
from

fa) Down’s syndrome
{b} Kleine-Levin syndrome
fcj Turner’s syndrome

{d) Klinefelter’s syndrome
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19. Which one of the following is 'a
primary advantage of the
naturalistic observation?

(a)

(b)

fc)

(d)

20. Lack

It is a highly objective and
reliable method

It allows easy, cheap and quick
data collection as compared to
other methods

It does not requirc
sophisticated apparata and
instruments

It allows to study behaviour,
which is more natural,
spontaneous and varied than
in a laboratory

of control over one’s

environment leads to

(@)
(b)
(c)
(d)

mental rctardation
extrovert behaviour
sociability

lcarned helplessness

21. The concept of personality has been
introduced in psychology through
the observations that behaviour is

(a)

(b}
fc)
(d)

+

quite coinplcx and influenced
by quite large number of
stimuli

consistent and persistent
governed from within

highly  individualistic and
situation-specific
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(@) 1-2-3-4

(b) 2-1-3-4
) 2-4-3-1
(d) 1-4-2-3
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22. A psychologist, interested in
understanding the consequences of
capital punishment, could locate
only five persons receiving capital
punishment and available for
study. For this purpose, he should
employ

(@) experimental method
(b} case-study method
{c/ medical method

{d) observation method

23. When the moon is near the horizon,
it appears larger than when it is
overhead in the sky. The effect is
mainly the result of

1. distance cues that make the
horizon moon seem nearer

2. the retinal image of horizon
moon being larger than the
retinal image of the moon when
it is overhead

Which of the statements given
above is/are correct?

{a) 1 only

(b} 2 only

{c/ Both 1 and 2
'{d) Neither 1 nor 2

4

|

24. A stationary light hanging on a
ceiling in a complete dark
atmosphere in a room appears to be
moving to and fro. This is known as

{a} autokinetic movement
{b) induced movement
{c) apparent movement

{d} phi-phenomenon

N-DTQ-K-RUI/11A
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. If subjects learn a list and relearn

the same in reverse order, it
- suggests that

fa} recall method leads to positive
transfer but  anticipation
method leads to no transfer

(b} recall method leads to negative
transfer but  anticipation
method leads to positive
transfer

{c) anticipation method leads to
negative transfer but recall
method leads to no transfer

(d) both anticipation and recall
methods lead to no transfer

26. Learning set’ experiments provide

evidence for

{a) specific transfer

fb) non-specific transfer

(¢} setting learning experiments

(d) anticipation

27. The time between the conditioned

stimulus and the unconditioned
stimulus is known as

{a) stimulus response interval
{b) conditioned response interval
fc) unconditioned response interval

fd) interstimulus interval
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+28. In any learning experiment -

¥

4

s

{a} practice is an

7 independent
variable, learning and” change
in behaviour are dependent

variables

(b} practice is an independent
variable, learning is
intervening  variable  and

change ‘in  bchaviour s
dependent variable

(¢) learning and
behaviour are independent
variables. and practice is
dependent variable

‘change in

(d) practice is control variable,
learning is dependent variable
and change in behaviour is
independent variable

* > L ot

29. In a research on the relationship

~performance in- the

between Jintelligence and
r school
examination, in a class of thirty
students, ten students were
identified as high intelligent and
twenty students were identified as
low intelligent. The means of
examination marks for high and low

intelligent students are 50 and 20

_respectively. For some reasons, the

mean of marlgs for the entire class
is needed. What would it be?

faj 70"
(b) 35
fc) 30

(d) 25
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30. A set of numbers has a variance ofv.
If a.constant k is. added to every
number in the set, what will be the
variance of the new set of numbers?

(a) k
) v
fc) v+k

(d vxk

31. If a constant 5 is added to all the

scores of a given distribution, what
effect will it have on the
computation of the mean, if the size
of the distribution is N ?

(a) Mean will increase by 5
{b) ‘Mean will decrease by 5
{c) | There will be no change in the

mearn

-

{d) Mcan will increase by S/ N

32. Consider the following scales of

measurement :
1. Nominal scale
2. Ratio scale
3. Interval scale
4. Ordinal scale

o

L <

: Lo
The median can be a measure of

central tendency in which of the
above scales of measurement?

fa) 1 and 4
() 2 and 3 only
{c] 4 only

{d) 2,3and 4 -
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33. In the neuron, which one of the
following carries information away
from the cell body?

fa) Glial cells
(b) Dendrite
fc) Axon

(d} Astrocyte
34, Extent of illusion in some
geometrical forms happens to differ

among ' African and American
groups due to

{a} racial differences
(b} personality differences

(c) differences in physical
environment

(d) None of the above

35. When a neuron is not carrying a
nerve impulse, it is said to be in the

(a} ionic state
(b} nervous state
{c) negative state

(d) resting state

36. The similarity between incidental
and latent learning is that

{a) both undermine the role of
reinforcement

(b) both involve recognition
{c/ both involve cognition

{d) both occur covertly
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37. A psychologist correlated the scores
on the odd-numbered items of a
test with the scores on the even-
- numbered items of the same test.
What is he trying to find?

faj Alternate forms reliability
(b} Internal consistency reliability
fc) Test-retest reliability

(d} Concurrent validity

38. Ten candidates applied for a job.

They were listed in a descending
order in terms of their suitability
for the job, as assessed by a
standardized selection test. The list
constitutes afan

(a) nominal scale
(b} ordinal scale .
(c) interval scale

(d) ratio scale

+ N -
39. A student failing to get high scores in

school examination devotes greater
energy to excel in sports. What is
this called?

{a) Displacement
{b) Withdrawal
(¢} Compensation

{d) Reaction formation




33, db=mfe 3, frafafae & @ FR-H
T HIIER-HE W A W S R

(@) TERI HIRTH
(b) T
c) Ry
(d) VTR

34. T widE w6 # ww B dm o,
st @ sl wer #, fmar @
gfed g =1 F1 B |7

fa) T e

(b) =AftEes foreramd

(c) e qafaw 6t fimad
(d) I R QHE T

35. W& AEFTRIREET qiw ST W 9% @
FTet, M T8 TR 3w 7 g B7

(@) i raE
(b} ahrhig staven
fc) TRRICHS TFEA]

(d) Tasmm sreen

36, THEE qU W Afw F AN T
I @ 6

@) T & v H ot #} ww

(b) A g Mk ®
fc) < T w9 Wit &
{d) < T=od ¥9 Q e &

N-DTQ-K-RUI/11A 15

37. & wWawhs 1 R olaw &
WMW%WWW
aﬁqﬂm%mmqmﬁ%m
F WY T HAT ag T TW HW R
W T T _7

(@) aﬁmmﬁm |

- (b) T w0 e
(c) wau-Fuiign Qg
(d) EHad Agan

38. W A%t & fom zw snaffEl 3 e
fear TRt At § S U@ &
MR 9 a0 w7 & gt ®& T ™, S
wHRF A ghem % I |
ﬂmmlazq?ﬁﬁsamqﬂ@ﬁﬁa%?

{a) Q@HW
(b) g AGA
fc) IUH A

(d) ST A

39. 5§ wh foendl & ww wan § 3= 9=
T omd, @ T ofUw I GEER #
T B F T I R W N FEa 87

(a) ToraE

(b) Tafeda

(c) whaefd .
(d) wifErn Faior

[ P."T. O.




40. Consider the following statements :
Perception is

1. the active
inputs

organization of

2. the selection of inputs

3. the interpretation’of inputs

Which of the statements
abave are correct?

given

fa) 1 and 2 only
fb) 2 and 3 only
{c/ 1 and 3 only
(dj 1,2 and 3
41. Inter-role conflict related stress can
be reduced by
{a) role boundedness
{b) role rejection
(¢} role negotiation

(d) role fixation

42. The general pattern of reactions to
stress which are referred to as the
fight-or-flight syndrome is a process
controlled through the

{a) parasympathetic
system

nervous

sympathetic nervous system

(b)

fc} central nervous system

(d) brain

N-DTQ-K-RUI/11A
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43. One of the ways to change attitudes
is to create inconsistencies between
a person’s actions and attitudes.
This technique is based on the
concept of

faj compliance
{b) persuasion
{c) cognitive dissonance

(d)

cognitive balance

44. The most important problem in
employing self-report personality
inventories in personal selection is

(a} low reliability
(b) social desirability
(c) lack of norms
(d}

respondent’s lack of

insight

self-

45. Who of the following is likely to be an
uncooperative and hostile employce
in an organization?

(a) Employee scoring high on
Eysenck's Psychoticism

(b} Employee scoring low
Eysenck’s Extraversion

on

(¢} Employee scoring high on Five-
factor Agreeableness

(d} Employee scoring low on
Five-factor Openness to
Experience
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46. What is the .correct order of the 48. Consider the following elements:
following psychosocial development 1. Need
stages given by Erik Erikson?
2. Incentive
3. Drive
2. Autonomy vs. shame and 4.
doubt

1. Trust vs. mistrust

Reward

Which one of the following is the

Industry vs. inferiority correct sequence of motivational

4. Initiative vs, guilt cycle? .
Select the correct answer using the faj 2-1-3-4
code given below : (b} 1-3-2-4 '

€ 1-2-3-4
Code :

(d) 4-3-2-1
(@) 1-2-3-4

49, A worker in a company is working

(b) 1-2-4-3 overtime for the past few weeks,

hoping to get a raise in the job. The
() 2-1-4-3 behaviour illustrates
(d) 2-4-1-3 {a) drive

(b) incentive motivation
47. Which of the following is/are the

_ {c; need for power
paper-pencil test(s) of  the

personality assessment? (d) self-actualization
1. MMPI "
50. In fear, the blood vessels serving the
2. EPQ stomach, intestines and interior of
3. DAT : the body tend to contract, while
those serving the exterior muscles
Select the correct answer using the of the trunk and limbs tend to
code given below : become larger. This is a function of
fa} the parasympathetic system
Code : only
{b) the sympathetic system only
{a} 1 only .
‘ fc) both parasympathetic system
{b) 2 only and sympathetic system
) 1 and 2 only (d} neither parasympathetic
system nor sympathetic )
{d 1,2 and 3 system
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51. Stimuldtion :0f which ,part of.the
brain facilitates autonomic arousal
and behavioural activity?

fa) Midbrain
(b) Thalamus

{c) Cingulate gyrus

]

{d} Septal region

S52. “We feel sorry because we cry.” To
which theory of emotions does the
statement belong?

(@) Cannon-Bard
(b) Jarpes—Lange

{¢) Schachter-Singer

(d) Opponent process

53. Consider the following statements :

The term declarative memory is
used to refer to

1. procedural memory
2. semantic memory

3. episodic memory

Which of the above statements are
correct?

fa) 1,2 and 3

(b} 1 and 2 .c_)nly

fcj) 2 and 3 only
[}

(d) 1 and 3 only
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+ 541 Which one of the following iszthe
* ; most fundamental characteristic of
instinct?

v

fa) Acquired
{b) Inherited
{c) Species-speci{ic

(d} Culturq-priented‘\_‘

55. In the process of perception, the

pattern recognition is based on
{a} signal detection v

(b) competition between stimuli
(c) data limitation

{d) feature recognition

56. Consider the following statements :

Flashbulb memories are °  *

1. the memories centered on
specific, important or
surprising events

2. so clear that they seem like
snapshots of the events

*

Which of the above statements
is/are correct?

{a} 1 only
(b) 2 only
{c/ Both 1 and 2

fd) Neither 1 nor 2

« I
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8§7. When task performance is assisted
by previous experiences, which we
do not consciously try to recollect, it
is known as-
fa) implicit memory
(b) procedural memory

{c) explicit memory

(d) episodic memory

58. The spatial zone that Hall called
social distance

(@) is usually maintained by using
some kind of physical barrier

(b) allows good eye contact and
sense of being personal

f¢} is commonly found in contact
sports

{d) eliminates personal communi-
cation between individuals

-89. The repression hypothesis of
forgetting or failure of. retrieval
asserts that traumatic associations
of early memories cannot be
retrieved unless emotions
associated with memory are

{a} diffused
{b) suffused
{c} rehearsed

{d) contrasted
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60. Which one of the following correctty
states the purpose of job analysis?

(a} Placement of a person in
proper job

(b) Appraisal of a person’s job
fithess

fc) Appraisal of performances of a
person

(d] A description of what workers
do on a particular job

61. Hippocampus plays a key role in
fa) spatial learning
. (b) procedural memory

{c) executive functions of working
memory

(d} semantic memory

62. Which one of the following correctly
describes the essential function of
personnel selection and assessment
procedures?

{aj Estimating the likely future job
performance of candidates

(b) Identifying the effectiveness of
personnel at present

4

(c) Evaluating personality predis-
positions of candidates

(d) Assessing the worth for
achievement of personnel
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'63. The theory of problem-solving based
on computer simulation is known
as

{a} statistical package for social
sciences (SPSS)

(b} transmission control protocol
(TCP}

{c)] general problem solver (GPS)

(d} world wide web (WWW)

64. The technique of recalling
information by having been exposed
to related information at an earlier
time is called

(a) priming
(b) rehearsal
{c} recollection

(d) recognition

65. Noam Chomsky introduced hypo-
thetical mechanism for a language
acquisition based on

faj cognitive principles
(b} generative grammar
(c) language programming

(d) grammatical rules
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66. Artificial intelligence refers to .,

{a) computer machine determin-
ing the limits of programming
by programmes

(b) combination of  cognitive
psychology and computer
science

fc) control device inherent in the
machine

fd) computer
capacity

programmers’

67. When a mental set retards thinking
by offering inappropriate solutions,
it is a case of -

{a) rigidity
(b} functional fixedness
fc) negative transfer
{d) negative bias
68. The figural, spatial and non-verbal
processing of information in the

right hemisphere is referred to as

fa) primary information
' processing

{b} Secondé.ry information
processing

fc) appositional information
processing

(d) propositional information
©  processing
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69. Consider the following dimensions

1. Operaticns
2. Co gnitions
3. Products
4

Contents

Which of the above dimensions are
there in Guilford’'s Model of the
Structure of Intellect?

fa) 2, .3 and 4 only
fb) 1 and 2 only
fc 1, 3 and 4 only

L
(d 1,2, 3 and 4

70. Which one of the following methods

of measuring retention makes use
of saving scores?

fa) Recognition
fb) Recall
fc} Relearming

{d) Reconstruction

71. Intelligence required to succeed in

school learning is widely considered
to be measured by tests of

(a) verbal and quantitative ability
(b} verbal and spatial ability

(c) spatial and abstract reasoning
ability |

{d) abstract reasoning and
quantitative ability

N-DTQ-K-RUI/11A

72. Which one ‘of the following
corresponds to intelligence
consisting of the knowledge and
expertise accumulated over a
lifetime of experience and measured
by vocabulary and comprehensive
subtests of IQ tests?

fa) Fluid intelligence
fb) Emotional intelligence
{c) Social intelligence

(d) Crystallized intelligence

73. Which one of the following is not a

component of the theory of multiple
intelligences?

fa) Perceptual speed
(b) Linguistics
fcj Musical skill

{d) Logical mathematical skill

74. Instances in which individuals or

groups perform trivial positive
actions for people towards whom
they feel prejudiced and then use
these actions as an excuse for
refusing more meaningful beneficial
behaviour, are called

{a} tokenism
(b) discrimination
{c] stereotypes

{d) attitude

...
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75.' A new area of biological* research
on intelligence examines the rate

»  of cortical glucometabolism,
Investigations on cortical glucose
metabolic rate wusing Positron
Emission Tomography (PET)
analysis of subjects solving Raven’s
progressive matrices or playing
computer games generally reveal

that more intelligent subjects show

{a} lower glucometabolic rates
(b} moderate glucometabolic rates
(c) high glucometabolic rates

{d) very hiéh glucometabolic rates

76. The process of adding and equating
certain factors to combine and
evaluate information about others
to form an impression of a person is

(a) cognitive summation
{b) cognitive algebra
s

{c) ~congruence

%,

(d) comparison

77. Which of the following nceds are
included in growth motivation?

Physiological needs
Safety neceds

Self-actualization

A

Esteem needs
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Select the correct answer using the
code given below :

Code :

fa) 2 and 4
(b) 1 and 3
fc} 1 and 4

(d) 3 and 4

78. An affiliation need means

{a) a social need that directs a
person to achieve excellence

to" overcome ‘ gbstacles and
strive to do something difficult

()

{c) to attract attention to one’s

person

{d) to form f{riendship and
association with others

79. Which one of the following

dimensions does not belong .to
Five-factor Model of Personality?

A |

Openness to experience

(a)

+

(b} Psychoticism
{e} Neuroticism

Extraversion

(d)
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80. Consider the following stages of
personality development :

1. Oral

2. Anal

3. Latency
4. Phallic
5. Genital

What is the correct order in which
the above stages of personality
development happen according to
Freudian theory?

(@) 1-2-3-4-5 -
(b) 2-1-3-4-5
fc) 1-2-4-3-5

(dj 2-1-4-5-3

81. Mr. X, a company executive, feels

that he can control his fate. He
generally expects that by hard
work, skill and training, it is
possible to avoid failure and get
the success. According to social
learning theory, Mr. X has

fa) strong motive to avoid failure
(b) internal locus of control
fc} external locus of control

{d) achievement motivation
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Consider the
styles :

following learning

1. Convergent learning
2. Divergent learning
3. Assimilative learning

4. Accommodative learning

Which of the above learning styles
were proposed by Kolb?

fa) 1 and 4 only
b} 1, 2 and 3 only
fc} 2, 3 and 4 only ‘2

(d) 1,2, 3 and 4

83. In community health programmes,

tertiary prevention refers to

fa) prevention of health problems
at the root level

(b) providing treatment after onsct
of disorder to prevent the
problem  from spreading
further

{c) efforts to minimize the harm
done by health problems to the
individual and society

(d) Both {a) and (b)
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84. A production

manager in
electronics industry has the skill of
developing team spirtt among his
subordinates and influences them
to achieve the departmental goals
within the set time period. He is
. said to be high on

an

{a}
{b)

legitimate power
expert power
{c) :social power

(d}

referent power

85. Bipolar adjectives are used in
fa) semantic differential technique
{b)

{c) method of
intervals

method of summated ratings

equal-appearing

(d} None of the above

86. Which one of the following
statements relating to Pearson’s r is
not correct?

fa) It '~ expresses the linear
relationship  between  two
variables

{b) Square of it represents the
proportion of variance in one
explained by the other

fc) A correlation of -0-7 is as
strong as a correlation of +0- 7

A correlation of +0-4 is twice
as strong as a correlation
of +0.2

(d)
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87, Which of the following methods

should not be applied to determine
the reliability of a speed test?

1. Test-retest

2. Split-half

3. Parallel f01_‘ms

4. Rational equivalence

Select the correct answer using the
code given below :

Code :

fa) 1 and 2

(b i 1 and 3 only
{c) 2 and 4

(d 1,3 and 4

88. A high school girl preparing for her
examination at around midnight
heard a loud crash outside her
room. Her body reacted instantly

and she experienced a panic. The
reaction was produced by

fa} left hemisphere

(b} occi_pital lobes

{c} sympathetic nervous system

{d) parasympathetic nervous
system

89. Discrepancy between perception and
reality occurring as a result of
sensory processes is known as

(a)

(b} illusion

hallucination”

{c¢) discrimination

(d)

accommodation
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92. An

' '90." Which ‘orie of the following is most

_ importarit in classical conditioning?
{a) Sequence between CS and UCS

(b} Temporal arrangement of the
CS and UCS pairings

fc) The number of conditioning
trials

(d} Familiarity with the environ-
mental conditions

91. A factory pays its employees on a

piecework system. The schedule of
reinforcement used is

(a) variable ratio
(b) fixed ratio
{c) fixed interval

{d) variable interval

assessment technique that
attempts to study personality
through the use of unstructured
stimmulus, task or situation is
termed as

fa} paper-pencil test

(b} semi-projective test

(¢} psychometric test

(d} projective test
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94, ‘Focus

93. A disorder resulting from exposure to
major stress or with symptoms of
anxiety, nightmares, poor sleep and

concentration problems lasting for
more than one month is called

fa) anxiety disorder

'(b)' post-traumatic stress disorder

(PTSD)

{c) sleep disorder

(d) trauma

gambling’ is a
adopted in

strategy

fa) division of attention
{b) concept acquisition
fc) differentiation

{d) perceptual vigilance

95. The two-factor and the group-factor

intelligence theories were formu-
lated using the method of

fa) discriminant analysis
(b} trend analysis
{c) regression analysis

(d) factor analysis
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96."Which of the “following factors are
" included in Thurstone’s test of
. wprimary mental abilities?

r

1. Sbakce .
2. Réasoning
3. Sociability

4. Word fluency

Select the correct answer using the
code given below :

Code :

(@} -1, 3 and 4
@) 2,3 and4,
fcj 1,2 and 4

(d) 1,2 and 3

97. In an attitude scale, items are chosen
to be either highly favourable or
highly unfavourable towards
attitude object. Respondents are
asked to,, 1nd1cate the degrec .of
agreement ﬁor dlsagreement ‘with
each of the statements. This type of
scale is

AX B

{a} ‘Thurstone scale
(b} Likert scale

{c) Seven-pgi'nt: scale

({d) Distance scale” "
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98. Discrimination is a 'behavicural
manifestation of

{a) ' attitude
(b} stereotype

{c}] prejudice
A
{d) prototype

o

¥

99. Use of prototypes

{a) enhances. information
¥ - Lo
processing capacities

(b) lowers information processing
capacities
, K ;
{c/) has no impact on the capacity
of information processing

{d} increases :speed  but reduces
aceuracy of information

processing N
- - A

100. The belief of an individual about the
way in which traits are generally
1nterrelated in people is (:alled

- r ‘X
i A L
(a) exphczt personahty theory

_3

{b) implicit personality theory

{c) consistency theory of
personality  ~-

{d) trait theory of personality
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101. Which onhe - -of the

: following
components is not related to
emotional intelligence according to
Daniel Goleman?

(a) Being self-aware

(b} Not controlling anxiety and
anger

(¢) Being persistence

(d) Being empathic
102. The expression “Occam’s razor”
relates to '
fa) . objectivity
{b) parsimony
fc} empiricism
(d) testability
103. Which one of the following

statements regarding ex post facto
research design is correct?

{a) 1t is carried out to find out the
~ relationships among  the
variables -

(b} It involves random assignment
of subjects

(¢} It is employed in experimental
research

{dj It assumes measurement of

variables using at least ordinal
scale '
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104. Which of the following are correctly
matched?

1. Addition and : Absolute zero
subtraction

2. Chi-squares : Frequencies

3. Interquartile : Rank order
range

4. Division and : Arbitrary zero
multiplication’

Select the correct answer using the
code given below :

Code

fa) 1 and 4
(bj 1 and 3
fc/ 2 and 3

{d) 2 and 4

105. Which one of the following is
associated with nominal scale of
measurement?

{al Mode
{b} Median
(¢} Quartile deviation

(d) Range
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106. Consider the fdllowing statements 108. A major pathway extending from

relating to the reliability and the primary visual cortex to thc
validity of a test : parietal lobes seems to specialize in
detecting

1. . Validity presupposes some
amount of reliability, (@) colours
2. - Internal consistency is related
to both reliability and validity. (b) shapes

{c/ lines and angles
Which of the statements given

i ?
above is/are correct: (d) position and motion

109. Which concept describes the human
mind as a river which is always
flowing and changing?

(a) 1 only

{b) 2 only
{a) Collective consciousness

() Both 1 and 2 (b) Creative thinking
(d} Neither 1 nor 2 {c) Stream of consciousness

{d) Cognitive map

107. A child runs with a stick presuming

it to be a horse. What kind of 110. Unconscious aspects of personality

thinking is it? can be more accurately assessed
by which one of the following
tests/methods?

{a) Animistic

{a) Objective test
(b) Autistic
{b) Interview method
C t
{c) Concrete {¢) Observation method

{d) Abstract (d) Projective test
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111. Which one among the following
releases neurotransmitters that
carry the message to other
neurons? '

(a) Synaptic cleft
(b) Terminal button
fc} Synaptic vesicles
(d) Dendrites
112, What is the -correct. sequence of the

following events during stress
- reaction?

1. Hypothalamus releases CRH.
2. Pituitary produces ACTH.

o3 Anterior  adrenal cortex
produces 17-OHCS.

Select the correct answer using the
code given below :

. Co&é :“

Tos

(@) 1-2-3
(b)) 2-3-1
(f}) 1-3-2

@ 2-1-3
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113. Which - one of the
brain-imaging techniques uses a
radioactive sugar?

(a)

(b)

fc

(d)

EEG

CT

PET '

MRI

following

114. The nerve impulse is transmitted
across the synapse by

(@)

(b) chemical intermediary

electrical activity

(¢} electrochemical activity

(d) biochemical activity

1.

115. Top-down perceptual processes are
thought to be

{a)

(b)

(c)

(d)

conceptually driven
data driven
semantics driven

analysis driven
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Directions :

The following five (5) items consist of two
statements, Statement I and Statement I1.
You are to examine these two statements
carefully and sclect the answers to these
iterns using the code given below :

Code :
fa) Both the statements are
individually true and

Statement II is the correct
explanation of Statement 1

. )
(b) Both the statements arc
individually true but
Statement II is not the correct

explanation. of Statement I

Statement 1 is but

Statement I is false

(c)

true

.

Statement 1 is false but
Staternent II is true

(d)

116. Statement I :

Confabulation is a reconstructive
process in memory recall.
v 3

Statement II :

Eidetic imagery is necessary for
good memory recall,

117. Statement 1 :

Extraversion is an important
concept in modern personality
psychology.
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118.

119.

120.

Statement II : +

The psychological definition of
personality is itself based on the
observation that people differ in
degree of popularity or social
recognition.

Statement I ;
The Rorschach test cannot be
adopted to the Indian socio-
cultural context.

Statement II :
The stimulus material of the

Rorschach test is very ambiguous.

Statement 1:

Different neurons conduct action
potentials along .their axons at
different speeds.

Statement 11 :

The difference in the speed may
be because some axons have
myelinated and some have not.

Statement 1 :
More individual differences arc
present in prejudice.

Statement II :

Prejudice is bas:ed on pre-
judgements made before actual
expericnce.
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